Robin gives away
Draw a half of his pizza. He
has 9 slices left. How
many slices were

rectangle.

Shade % of it there all together?

Latrice has 26 A storm breaks % of )
atrice nas the windows in a What is % of 287

oranges. She eats house which has 24 Write the
half of them. How windows. How many

many did she eat? windows were
broken? sentence.

division number

A squirrel has 32
nuts. She eats %
of them. How
many nuts does
she have left?

There are 36

Miss McLaren has 32 children in the

chocolate bars. She gives yurt. % of them
Mr Strain half. How many are reading. How
chocolate bars does Mr many are
Strain have? reading?




